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QUESTION 1

In Huawei FusionCompute, in addition to configuring static routes, DVS also supports multiple dynamic routes. 

A. TRUE 

B. TRUE 

Correct Answer: B 

 

QUESTION 2

In Huawei FusionCompute, the memory and CPU resources used by virtual machines can only be provided by the same
cluster. Therefore, the maximum computing resources that virtual machines can actually use cannot exceed the sum of
resources available to all hosts in the cluster 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Switches can be divided into access switches, aggregation switches, and core switches according to their usage. Virtual
switches belong to aggregation switches Switch 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

The following incorrect description of the security group application scenario is 

A. By setting security group rules, you can control permissions on folders in the virtual machine 

B. By setting a security group rule, you can only allow remote login of virtual machines to specific IP addresses 

C. By setting security group rules, you can protect virtual machines from being accessed 

D. By setting a security group rule, you can make the virtual machine inaccessible to the FTP server 

Correct Answer: A 
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QUESTION 5

In FusionCompute, the administrator binds the two network adapters of the CNA host in the active / standby mode. After
binding, the transmission rate is equal to the sum of the transmission rates of the two network ports. 

A. TRUE 

B. FALSE 

Correct Answer: B 
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